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Questions

Every skew-symmetric matrix of odd order is

| () Symmetric (2) Singular
| ® Non-singular (4) Hermitian

2. | Ifris the rank of the matrix A, then the number of linearly independent
solutions of the equation AX=0inn variables, is
(1) n—r (2) n-r-1
13 r-—1 (4) n/r

. :_Furtheequationx°+5x3+2x-3=0.leaatnumberofir;1aginaryrmmis
;(1} f_ (2) b (3) 6 4 2

Chaﬂcteﬁﬂﬁﬂrmtsofa Hefrmitian matrix are all
1) zero (2) imaginary
(8) complex (4) real
y B+

1

O ;L.';.'_:_‘]' =L

(1) b*+dabc+8 (2) b*+4abc—8ald=0
| b*-dsbc+B8a'd=0  (4) b'-4abc-8a'd=0

¥

__'gquatiﬁnﬂx“+b‘x’+5x+k=ﬂareinA~P.Thent.he

e K s
1 -1 @ 1 3) -2 4) 2
7. | If xx___g =80 andnisa positive integer, then the value ofnis
I | a 2 @ 3 (3) 4 @ 6

¥ G-EE '.__10 (Maths, Maths with Comp. Sc.) Code-A
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No. Questions
ax+1 , =9
8. | Let f(x)=¢ Bax+b , 2<x<4
6 , x=24
Values of a and b such that f (x) is continuous everywhere, are
-5 3 5 -3
5 3 5 2
@ 53 ]
9. | Derivative of cos™ "‘HTI’ D<x<l1is
s - @ ——
v1—-x* 241 -x*
(& s o
Vv1-x* 241 —x*
10. | The radius of curvature P for the curve xy = ¢, ¢ being constant, is
g
i x*+y*)*
M (x*+y})" @ §_c_)_
2 % 2 : 3 %
@ &) @ &)
2¢c 2c
11. | Oblique asymptotes to the curve y* (x-2 a) = x* —a® are
(1) ytx+2a=0 (2) xty+2a=0
(3) x+ty+a=0 (4 ytx+a=0
12. | Area between the parabolas x*=4ayand y*=4 axis
. E 3 E 2
M 3Za @ ;a
16 16 ,
(3) g & (4) 5 8

PG-EE-2016 (Maths, Maths with Comp. Sc.) Code-A
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f x*V1-x* dx =
@ 5% @ "M
|® as @ o

14. | Co-ordinates of the centre of the conic
8x*—24xy+15y*+48x—-48y =0, are
@ @3 @ 69
® @2 @ @3

5. p‘:ﬂadius-of the sphere
| |
1 X4y +zt-4x+6y-8z+4=0is

- |w 3 @ 4 ® % @ 5

6. | The condition that the plane ax + by + cz = 0 cuts the cone xy +yz +2x=0

. Ty Pl

B3, 32

1 9

TR L L

| A e
et a r
ol .

TR he

17. | Value of tan (i log a".h] is
g a+ib

1. ab 2 ab
O = @ v
2 ab 4 ab

@ =g

PG-EE-20 ?Mmmm&} Code-A
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18. | Which of the following congruences have solution
| @ x"=2(mod 59) (2) x*=-2(mod 59)
|| @) x*=2 (mod 61) () x*=-2(mod 61)
| : -
19. | If tan™ 2x+tan” 3x=2, thenx=
1 1
(1) 2 (2) 3
4 1
t (3) 7 (4) 8
20. Emahx=g, thenx=
(1) log (2-— V5) (2) log (2—J§)
@) log (2++5) 4 log (2++/3)
21. | Sum of the series -
S S MOADE i
2 3
@ (im-x) (2) = (im+x)
2 2 4
@) in-x (4) in+x

22. | An integrating factor of x —g— +(3x+1) y=xe™, is

-

(1) xe* (2) xe*™

(3) xe*™ (4) %xa"“

' PG-EE-2016 (Maths, Maths with Comp. Sc.) Code-A
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i

p.ﬁrticular solution, then the value of a 18

923. | For the differential equation %% +ay=—4sin 2%, ify = xcos 2% isa

— —

4

@ 4 @ -4 @) ':I @)

24, | Orthogonal trajectories of the family of parabolas y* = 4 ax are
(1) 2x+y*=c @ e+2y*=c
(3) xt=4ay+c Y f=4x+§_

the name

25. | The differential equation of the type y = PX + f (p) is known with

(1) Euler (2) Lagrange (3) Clairaut (4) Cauchy

A is

1 0 2 -1 @ 2 )

96. | The vector (x+3Yy) i+(y-2 7) j+(x+Az) £ is solenoidal, then the value of

-2

97. | Magnitude of maximum directional derivative of

1 421 | @ 2421
@) 3421 @ 2V

b (% ¥, 7)=%x —2 y?+4 2" atthe point (1, 1,-1)1is

28. | A particle moves along the curve

at time t 18

x=4cost,y =4 sint, z = 6 t, where t is time. Magnitude of acceleration

@ 3 @ Y @ 5 4) 4

2016 (Maths, Maths with Comp. Sc) Code-A
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29. | Using Stoke’s theorem, value of the integral §{3’ zdx +xzdy + xydz),
where ¢ is the curve x*+y?=1 z=y?: ig
1) o @ 1 @) 2 @ 7
30. [ If F=3xyi-y?], then [-dr, where ¢ is the curve ¥ =2x% from (0, 0) to
(1, 2); is
™ % @ Y @ % @ —8
31. | If Lagrange’s mean value theorem is used on the function f (X =x(x-1)
in [1, 2], then the value of ‘¢’ is
Q¥ @ % ® % @ %
32, Ifu=2xy,v=x’—3,r2, X=rcos @,y=rsing, then BN, v}
8(r,0)
(1) —4r®  (2) -4y 8 -2r (4 -3¢
d*u
33. | Ifu= f(x+2y)+g(x~2y), then 45‘:{
&u - §'u
(1) Y 2 e
d*u o*u
@) 2— (4) ~2—
_oy* oy*
34. | If u=log (x® + xy + y%) then u—g-+y%=
(1) 0 (2) -1 3 1 4 2

PG-EE-2016 (Maths, Maths with Comp. Sc.) Code-A
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86. | The envelope of the family of curves (x — a)* + y* = 4 a, a being the
parameter ; is
(1) x*=4(@y+1) (2) x*=2(x+1)
(@) y*=4(x+1) 4) y*=—4x+1)
36. | The locus of centre of curvature for a curve is called its
| (1) envelope (2) evolute "
| (3) torsion (4) characteristic
gy | lm (an"x)
ST 1 x>0 log(l+x*)
1 3
(1) 0 (2) 3 (3) 1 (4) 5
38. | Partial differential equation obtained by eliminating the arbitrary

constants a and b from the relation 2z= (ax+y)* +b, is
(1) px+gy=q¢? 2 py+ax=q’
(3) px+qy=p’ (4) py+ax=p*

|
i

| Solution of px+qy=3zis

- 27 d 3%
@ £[Z, =)0 @ ¢|¥, Z|=0
kl EJ b‘x ZJ
[ ) ( 3%
Y L) W £ 2 20
\y Z, \y 2)

£ he partial differential equation [D‘ -2DD + D") z=12xy, is

(2) 2x*y+y°
(4) 2x*y+3xt

with Comp. Sc.) Code-A
(7)
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v ¥
The equatmn a 5 3 ey a’*u =2 &' +2_6 B s
ay Eiz oxoy+  Oyoz

(1) Linear (2) Elliptic
(3) Hyperbolic (4) Parabolic

42.

Every given system of forces acting on a rigid body can be reduced to a
(1) Couple (2) Screw
(3) Wrench (4) Null force .

43.

Absolute units of moment in S.1. system i8
(1) Dyne centimeter (2) Gram centimeter
(3) Kg. meter (4) Newton meter

For two equal forces acting on a particle, if square of their resultant is
three times their product, then the angle between these forces is

» % @ % @ Y% @ Y%

45.

A body is slightly displaced and still remains in equilibrium in any position,
then such equilibrium is known as

(1) Perfect equilibrium (2) Stable equilibrium
(3) Neutral equilibrium (4) Naturalequilibrium

A body of weight 4 kg. rests in equilibrium on an inclined plane whose
slope is 30°. The co-efficient of friction is

i 3 1 2
(1) ~3 @ 5 @ 5 @ 5

PG-EE-2016 (Maths, Maths with Comp. Se.) Code-A
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3p 4
47. Theseﬁeaglg-+—§+gg+ ------- ) wherepandqarepouitiverealnumb&rs,
is convergent if
(1) p<q-2 2) p<aq-1
(3) p>a 4) p=a
- _1 n=-1
48. | The series ), ( n)“ is
n=1
(1) Absolutely convergent (2) Divergent
(3) Conditionally convergent (4) Oscillatory
49. | The limit superior and limit inferior of l:;,——} are respectively equal to
(1 0,0 2 1,0
3 1,-1 4) -1,0
50, | If the series i a, is convergent and the series < b, > is monotonic and
n=1
bounded, then the series f: a b, 1s convergent. This result is due to
n=1
(1) Cauchy (2) Leibnitz
(3) Dirichlet (4) Abel
bd = 2
51. {J%(x]} + {J_%(x}} 2
D @ o @ — A~
2 2n ) nX ) 2%

PG-EE-2016 (Maths, Maths with Comp. Sc,) Code-A
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ﬁ““ Questions
52. | If the Hermite polynomial of degree n is denoted by H_(x), then H (x) =
1) x 2 2x @) -2x (@) %
53. j te ™ costdt=
o
3 9 3 9
M 7 @ 1 ® 5 @ o
=1 1
54, | L =5
{(9-4]3}
1. st lﬁll 1. & ' 1.z«
(1) 4 te (2) rEd (3) 5 te (4) 2 t'e
55. | Fourier transform of the function
e™ ,  t>0,a>0
f(t)= i
® { 0 . t<0 -
T a na
&) a+1is @ a+is @) n+1i8 @ 1+1s8
56. | Giventhat
intx=1, y=4;

x=++x+——Y¥;
Then the value of x is

1). 4 @ b (3) 6 @ 17

57. | The continue statement cannot be used with

(1) do (2) while (8) for (4) switch

PG-EE-2016 (Maths, Maths with Comp. Se.) Code-A
(10)
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58. | The expression (+p)-x is equivalent to
(1) =p—>x (2) pox
3 p—>-x (4) p=x
59. | The result of the expression (17 * 4) % (int) 9-3 is
(1) 5 @) 4 @) 37 @4 173
60. | The condition for covergence of the Newton - Raphson mehhﬁ to a
root o is
£(a) ' (a)
1 <0 2) ———=-<1
D T P T
' (o ! {u)
3) = 1 i
{) f"'(ﬂ]_} (4) fl'( )
61. | Th gral | —=
1. 1 inte
e improper in TS
5 8
W% @ % ® % @ ¥
62. | Which of the following statements is not true
(1) Every singleton set is connected in any metric space
(2) Empty set is connected in every metric space
(3) Every subset having at least two points of a metric space is not
connected
(4) None of these
63. ]ﬂhﬂ dxmnvergea absolutely if
1
@ m<1 @ m>1 @3 m=0 (@) msl

PG-EE-2016 (Maths, Maths with Comp. Sc.) Code-A
' (11)
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h’-‘ﬁfﬂ“ Questions
64. | A totally bounded metric space is
(1) Compact (2) Complete
(3) Separable (4) Everywhere dense
65. | If the set A is open and the set B is closed in R, then
(1) B-Aisclosed (2) B—Aisopen
(3) B—A issemi-open (4) B-—Ais null set
66. | For a Cantor’s ternary set, which of the following is not correct
(I) Itis closed (2) Itisuncountable
(3) Itis dense (4) It is perfect set
67. | Let f be a bounded function defined on the bounded interval fa, b].
Then fis Riemann integrable on [a, b] iff
b - b
M [fa£if (2) !fsf,;‘f
: b : b 3
@ [f<tif @ [f=£f
68. | If G is a non-abelian group of order 125, then O (Z (G)) is
(1) 25 (2) 125 (3) 5 4 10
69. | The number of abelian groups upto isomorphism of order 10° is
(1) 50 (2) 49 (3) 45 4 39
70. | The number of generators of a finite group of order 53 are
(1) 53 @ 52 3) 5 @ |52

PG-EE-2016 (Maths, Maths with Comp. Sc.) Code-A
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71. | The number of prime ideals of Z,, is
1 2 2 4 @) 5 4) 10
72. | If f:G —» G’ 18 group homomorphism, then f is one-one if Kernel f is
(1) Eﬁzpty (2) Singleton set
(3) Any set (4) Set of identity element
78. | Anideal S of a commutative ring R with unity is maximal iff R/S 18
(1) Anideal (2) A vector space
(3) Aring (4) A field
74, | Which of the following statements is false
(1) Every field is aring
(2) Every finite integral domain is a field
(3) Every fieldisan integral domain
(4) Every integral domain is a field
75. | A person weighing 70 kg. is in a lift ascending with an acceleration of
1.4 m/sec®. The thrust of his feet on the lift (in Newton) is
(1) 784N (2) T8ON
(3) 692N (4) 980N
6. | The horizontal range of a projectile is three times the greatest height,

the angle of projection is

2%

b
Y
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77. | The law of force towards the pole under the curve r* = 2 ap is
1) F a% @ F g%
@ Fat 4 Fal
r r
78. | If 0 be the angle which the tangent at a point makes with the
radius vector, then the relation between angular velocity w and linear
velocity v is
(1} v @ w= vecosB
vsin0 .,
(3) w= (4) w=vrsinf
79. | Two particles of mass m and 4 m are moving with equal momentum. The
ratio of their kinetic energies is
(1) 1:2 2) 2:1 (3) 1:4 4 4:1
80. | Kepler law of motion says that each planet describes an ellipse having
the sum at its
(1) Focus (2) Centre
(3) Origin (4) Outer cover
81. | A particle describes the cycloid s = 4 a siny with uniform speed v. The

acceleration at any point is

v? v*
@ @ Fotew
v ¥
@ Tea-o @) e

PG-EE-2016 (Maths, Maths with Comp. Sc.) Code-A
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82. | [(8- )3 dx =
¥ 1 3 1 1 2
(1) 55(515) (2) 55[51 -5:]
2
ohitd) @)

83. | T(n)I'(1-n)=

Q — £ . @) sin nm
sin nm T
. nmn 2n
& T @ oo
84. | If Fourier co-efficient df'f (t) are Cn, then Fourier co-efficients of
L =
f (t) are
(1 C, 2 C-s
@ ~-Cs o @) —C-a .
85. T:E“ryq:lmvmgmg nging the order of integra tion, the value of £[ ’;f‘f;b; =
W P o X+
oy T @ —
4na na
\ (3) 3 (4) &
86. _Givmﬁatf(z}=2x3+y+i@'—x}.C—Requ&tinnafortlﬁafunctiunare
satisfied at
thelinex=2y (2) theliney=2x
= point of z-plane (4) no point of z-plane
ths with Comp. Sc.) Code-A
(15)
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87. | Image nf']z—-2i| = 2 under the mapping w=u+jy = L 18
&
(1) 4v+1=0 (@) 4u+1=9
B) 4v-1=p 4 4u-1=p
; ; . ! 3z-4
88. | Fixed point of the transformation W= o L
g —
(1) z=4 (2) z=3
(B) z=2 4) z=1
89. | If Vand W are vector spaces, then a linear transformation T from VieW
is isomorphism if it ig
(1) into (2) one-one
(3) onto (4) orthogonal
90. IfW={(a,b, &'d)- b+c+'d=ﬂ}isasuhspaceofR‘, then dim W is
(1) 4 (2) 3 3) 2 4 1
91. | Inaninner product space V (F), the inequality [(a., B)| sﬂuﬂ=ﬂﬂ] Va,BeV,
is called
(1) Sdnnuzhmqwﬂmy
(2) TEEHﬂEEmmummW
(3) Bessel's inequality
(4) Normal inequality
92. | fuand v are normal vectors in an inner product space V, then [u— v|=

(1) o 2 1 3) 2 @ 2

PG-EE-2018 (Maths, Maths with Comp. Sc.) Code-A
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93. | Which of the following is a orthogonal set
@ {@ 0, 1), (0-1), (01,0}
@ {0, 1),(10-1),(-1,0,1)}
@ {10, 1), (10,-1), (0,2, 3)}
(4) None of these
94, | The missing term in the table
x|0|1|2(3]|4 ],
. 18
yill]3 |9 81
(1) 27 2 31 (3) 32 (4) 34
95. | The sum of eigen values of a square matrix A of order n is equal to
@ 2 g i
2 2 sy
@) trace (A) @) |A] Iy
oy
96. | In Simpson’s -g-thrula, the interpolating polynomial is of degree
(n 2 2 1 (3) 4 4 3
97. | Root of the equation x* =12 x + 7 = 0 which is approximately equal
to 2, is
(1) 192 (2) 196 (3) 2.05 4) 215
98. | Which of the following is not correct
1) A=(1-v)" 2 1-E'=V
(3§ E=1+A 4 5= Ee’":’ _E‘}é

1
PG-EE-2016 (Maths, Maths with Comp. Sc.) Code-A
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99.

_muﬂtpmbable limits are
(1) pxo (2 pt2c
@ px % a (4 pt3c

For a normal distribution having mean p and standard deviation o, the

100.

In Gauss quadrature formula, the range of integration is
M [0,1] @ [1.1]
@) [0, n] @ [-1,0]

PG-EE-2016 {Mnﬁt&llathawith(}mSc.}Cdde-A
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The number of prime ideals of Z  is

(1) 2 (2) 4 3 5 (4) 10

If £:G — G’ is group homomorphism, then f is one-one if Kernel f is
(1) Empty (2) Singleton set

(3) Any set (4) Set of identity element

An ideal S of a commutative ring R with unity is maximal iff R/S is

(1) Anideal (2) A vector space

(3) Aring (4) A field

Which of the following statements is false
(1) Every field is a ring

(2) Every finite integral domain is a field
(3) Every field is an integral domain

(4) Every integral domain is a field

A person weighing 70 kg. is in a lift amendmg with an acceleration of
1.4 m/sec®. The thrust of his feet on the lift (in Newton) is

(1) 784N (2) T8ON
(3) 692N (4) 980N
The horizontal range of a projectile is three times the greatest height,
the angle of projection is
(1) tan"{% (2) tan™ g
4 4 3

) tan™ — g

3) . (4) tan 1

DT 16 (Maths, Maths with Comp. Sc.) Code-B
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7. | The law of force towards the pole under the curve r’=2ap is
(1) F {1~1—,3 (2) F a.—la-
r r
3) Fa— @ Fo—
r r
8 | If © be the angle which the tangent at a point makes with th
radius vector, then the relation between angular velocity w and linea
velocity v 18
1) w=vr ) v 088
vsinf §
@) w= > (4) w=vrsinb
9. | Two particles of mass m and 4 m are moving with equal momentum. The
ratio of their kinetic energies is
() 1:2 (2 2:1 (3) 1:4 (4) 4:1
10. | Kepler law of motion says that each planet describes an ellipse having the
sum at its
(1) Focus (2) Centre
(3) Ongin (4) Outer cover
2 2
11. {J;[x}} + {J_;{x}} =
2 2
M E @ @ = @ -
2 2n X 2x

PG-EE-2016 (Maths, Maths with Comp. Sc.) Code-B
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If the Hermite polynomial of degree n is denoted by H_ (x), then H, (x) =
1 x 2 2x @) -2x (4) %
T te® costdt=
3 9 3 9
(1) 16 (2) 16 (3) 25 (4) 25
je, | 1L s
(s—-4)
108, o o i
(1) 41:3 (2) 4t‘e (3) Z_te (4) 2t’e
15. | Fourier transform of the function
e t>0 a>0
f(t)= '
-1
1 T a Ta
L a+is @ a+is @) n+18 @) 1+is
intx=1, y=4;
EsTEXxt——Y,;
Then the value of x is
1) 4 (2) 5 @) 6 @ 17
17. | The continue statement cannot be used with
_('1} do (2) while (3) for (4) switch
PG-EE-2016 (Maths, Maths with Comp. Sc.) Code-B
(3)
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18. | The expression (*p)-x is equivalent to
(1) #=p—ox (2) p—x
@) p—x 4) p=x
19. | The result of the expression (17 * 4) % (int) 9-3 is
(1) 5 2 4 (3) 3.7 (49 173
90. | The condition for covergence of the Newton - Raphson method to a4
root o is
f 4 (u £ (o)
(1) <0 @ =<1
£ (a) £ (a)
f’ (ﬂ.) £ (ﬂ') <2
21. | If Lagrange’s mean value theorem is used on the function f (x) =x (x-1) in
[1, 2], then the value of '’ is
m Yy @ % ® % @ ¥
92. | fu=2xy,v=x*—y% x=rcos g,y =rsing, then%l:’—;j)
(1) —4r® (2) —4r (3) —-2r° 4 -3r®
&u
23. | fu=f(x+2y)+g(x—2y), then 4§=
&u o
1) ‘g (2 jay—“:
E"u ' o*u
3) 2— 4) =2—
(3) o (4) oy?

PG-EE-2016 (Maths, Maths with Comp, Sc.) Code-B
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24, | If u=log (x* + xy + y? then u%t&rg:
(1) 0 2 -1 3) 1 4 2
25. | The envelope of the family of curves (x — a)® + y2 = 4 a, a being the
parameter ; is
(1) x*=4(y+1) (2) x®=2(x+1)
@) y*'=4(x+1) 4) y*=-4(x+1)
26. | The locus of centre of curvature for a curve is called its
(1) envelope (2) evolute
(3) torsion (4) characteristic
o7 lim (tan™ 14:)2
" x>0 log(1+x%)
1 3
(1) 0 (2) 2 3) 1 (4) 2
28. | Partial differential equation obtained by eliminating the arbitrary
constants a and b from the relation 2 z=(ax +y)*+b,is
(1) px+qy=¢* (2) py+qx=g’
(3) px+qy=p° (4) py +gx=p*
29, | Solutionof px+qv=3zis

f 2
M 2, ﬁ):u @ £ E"?] 0

\X =z X
! 2 - 3

{3) f E, x_]=ﬂ {4] f[fl K_ng
Yy Z Yy z

PG-EE-2016 (Maths, Maths with Comp, Sec.) Code-B
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30. | P.I. of the partial differential equation (]}2 —2DD + D’*) z=12 xy, is
1) 2x*y+x (&) 2y ty
(3) 2x*y+3x® 4) 2x*y+3x*

31. | Oblique asymptotes to the curve y* (x-2 a) = x* —a’ are
(1) ytx+2a=0 (2) xty+2a=0
(3) xty+a=0 (4) yitx+a=0

39. | Area between the parabolas x*=4 ay and y* =4 ax is

.3. 2 E g

1 ge @ 38
(3) lgﬁ a’ (4) 1:- a’

33. | [ x*VI-x" dx=
1]
M 5% @ Mg
@ *Yos (4) 3%2

34. | Co-ordinates of the centre of the conic
8x?—24xy+15y2+48x—48y=0, are
(1) (4,3) @ 6,4
(3) 3,2 (4) (2,3)

35. | Radius of the sphere
x*+y3+z’—4x+6y-83+4=ﬂis
1) 3 @ 4 @ % 4 5

PG-EE-2016 (Maths, Maths with Comp. Sc.) Code-B
(6)
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36. | The condition that the plane ax + by + cz = 0 cuts the cone xy + yz + zx =
0 in perpendicular lines, is
y B T | 1 2.3
(1) E+E+E_1 (2) ;+g+:_u
@ 2:i:lo0 4) a+b+c=0
a b ¢
37. | Value of tan [i log a—ib) is
' i a+ib
ab 2 ab
ey ® v
2 ab 4 ab
3 m @ 3
38. | Which of the following congruences have solution
(1) x*=2 (mod 59) (2) x*=-2(mod 59)
(3) x*=2 (mod 61) (4) x*=-2(mod 61)
39. | If tan™ 2x+tan™ 3x =—:—, then x =
1 1 4 1
(1) 2 (2) 3 (3) 7 (4) ®
40, | Ifcoshx=2, then x =
(1) log (2—+5) @) log (2-+/3)
(3 log (2+5) (4) log (2++3)

PG-EE-2016 (Maths, Maths with Comp. Sc.) Code-B
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41. | Inaninner product space V (F), the inequality |(, ﬁ)]glaﬂflﬂﬁvu, BeV,

is called

(1) Schwarz inequality
(2) Triangle inequality
(3) Bessels inequality
(4) Normal in;quality

49. | Ifu and v are normal vectors in an inner product space V, then |u-v]=

1 o @ 1 @) 2 @) 2

43. | Which of the following is a orthogonal set
@ {0, 1), 10, 1), (0, 1, 0)}

@ {@0o,1),(10-1 (L0 1)}

@ {@ 0,1),(10-1) (02, 3)}

(4) None of these

44, | The missing term in the table
x|0l1]2]|3]| 4

vl1l3|9| |8t 4
Q 27 @ 31 @) 32 (4) 34
45. | The sum of eigen values of a square matrix A of order n is equal to
n n-1
(1) E (2) 2
(3) trace (A) (4) |A|

PG.EE-2016 (Maths, Maths with Comp. Sc) Code-B
(8)




Code-B
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46. | In Simpson’s %th rule, the interpolating polynomial is of degree
(1) 2 (2) 1 (3) 4 (4 3

47. | Root of the equation x* =12 x + 7 = 0 which is approximately equal
to 2, is
(1) 1.92 (2) 1.95 (3) 2.05 (4) 215

48. | Which of the following is not correct
1 A=(1-9) (2 1-E*'=V
@) E=1+A @) s-ph_guh

49. | For a normal distribution having mean p and standard deviation o, the
most probable limits are
(1) pto @2 puz2c
3) |,|.:I:~32-G' 4) p+8c

50. | In Gauss quadrature formula, the range of integration is
1 [o, 1] @ [-1, 1]
(3 [0, n] (4) [-1, 0]

51. | The improper integral f -J% dx converges to
™ % _ @ 8
@ % @ %

PG-EE-2016 (Maths, Maths with Comp. Sc.) Code-B
(9)
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52.

Which of the following statements is not true
(1) Every singleton set is connected in any metric space
(2) Empty set is connected in every metric space

(3) Every subset having at least two points of a metric space is not
connected

(4) None of these

53.

_[ m:nx dx converges absolutely if
i
(1) m<1 (2) m>1 3) m=0 (4) m=<l

54.

A totally bounded metric space is
(1) Compact (2) Complete
(3) Separable (4) Everywhere dense

65.

If the set A is open and the set B is closed in R’ then
(1) B-—Ais closed (2) B—Aisopen
(3) B-—A is semi-open (4) B—Aisnull set

56.

For a Cantor’s ternary set, which of the following i= not correct
(1) Itis closed (2) Itisuncountable
(3) Itisdense (4) Tt is perfect set

57.

Let £ be a bounded function defined on the bounded interval [a, b].
Then f is Riemann integrable on [a, b] iff

b b b b c
O [t=ff@ [f<fff @ [f<f @ [f=£1

PG-EE-2016 (Maths, Maths with Comp. Sc.) Code-B

(10)




Code-B

No Questions
58. | If G is a non-abelian group of order 125, then O (Z {G)) is
(1) 25 (2) 125 (3) 5 (4) 10
59. | The number of abelian groups upto isomorphism of order 10° is
(1) 50 (2) 49 (3) 45 (4) 39
60. | The number of generators of a finite group of order 63 are
(1) 63 (2) b2 (3) 54 (4) |52
61. | A particle describes the cycloid s = 4 a siny with uniform speed v. The
acceleration at any point is
* v
1) = ) ———
| (1) = (2) 5 ETTYY
V2 vg
3 T 4
| (3) 6a _o (4) e
62. | F(8-x")"
. 8— =
L ( X } dx
1 1 3 1 1 2
& 5 B(a' 2) @ 3 "[E‘ ‘5)
2 1 2 1 2
® 28(3 2 @ 53 2]
63. | I'(n)I'(1-n)=
1) — n @ sin nw
sin nw T
nm 2n
®) sin nmn @ sin N7

PG-EE-2016 (Maths, Maths with Comp. Sc.) Code-B
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64. | If Fourier co-efficient of f (t) are Cn, then Fourier cﬂ-eﬁicients of
£(t) are
1 C, @ C-a
@ -C. 4 -C..
65. | By changing the order of integration, the value of r r x:"‘dy -
oYy x*+y°
dJa dna
T — 2) —
(1) 3 (2) 1
4na ma
@ @ %
66. | Giventhatf(z)=2x*+y+i(y*-x).C — R equations for this function are
satisfied at
(1) thelinex=2y (2) theliney=2x
(3) every point of z-plane (4) no point of z-plane
67. | Image of |z— 2i|= 2 under the mapping w=u+iv= i 8
(1) 4v+1=0 (2) 4u+1=0
(3) 4v—-1=0 4 4u-1=0
- . : . 3z—-14
68. | Fixed point of the transformation w = : is
E —
(1) z=4
(2) z=3
(3) z=2
4 z=1

PG-EE-2016 (Maths, Maths with Comp. Sc.) Code-B
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69. | If Vand W are vector spaces, then a linear transformation T from Vto W
is isomorphism if it is
(1) into (2) one-one
. (3) onto (4) orthogonal
70. | EW={(a,b,c,d):b+c+d=0}is a subspace of R*. then dim W is
(L), 4= 1 (2) 3 (3) 2 4 1
N - o*u &%u o*u *u .
71. | The equation — +2 oy + P 2 A 23}'Ti‘z is
(1) Linear (2) Elliptic
(3) Hyperbolic (4) Parabolic
72. | Every given system of forces acting on a rigid body can be reduced to a
(1) Couple (2) Screw
(8) Wrench (4) Null force
73. | Absolute units of moment in S.1. system is
(1) Dyne centimeter (2) Gram centimeter
(3) Kg. meter (4) Newton meter
74. | For two equal forces acting on a particle, if square of their resultant is
three times their product, then the angle between these forces is
W % @ %
@ % @ %

PG-EE-2016 (Maths, Maths with Comp. Sc.) Code-B
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75. | Abody isslightly displaced and still remains in equilibrium in any position,
then such equilibrium is known as

(1) Perfect equilibrium (2) Stable equilibrium

(3) Neutral equilibrium (4) Natural equilibrium

76. | A body of weight 4 kg. rests in equilibrium on an inclined plane whose
slope is 30°. The co-efficient of friction is

- 1 1 2
(1) <3 (2) 72 (3) 3 (4) NE]
77. | The series -2-?- + :;f + :F ------- , where p and q are positive real numbers,
is mnvergent if
(1) p<q-2 (2) p<gq-1
@3 p>q (4) p=q
e ()
78. | The series D s
n=1

(1) Absolutely convergent  (2) Divergent
(3) Conditionally convergent (4) Oscillatory

79. | The limit superior ancl limit inferior of {( 1:) } are respectively equal to

(1) 0,0 2 1,0
3 .1,-1 (4 -1,0

PG-EE-2016 (Maths, Maths with Comp. Sc,) Code-B
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Nu.. Questions
80. | If the series 3" a, is convergent and the series < b, > is monotonic and
nnl
bounded, then the series i a,b, is convergent. This result is due to
. n=l
(1) Cauchy (2) Leibnitz
(3) Dirichlet (4) Abel
81. | Sum of the series
Emhx+sinh2x+sm§3x+ ______ i
@ = (ir—x) @ * (in+x)
2 2
@ inm-x 4) int+x
82. | An integrating factor of x gi—+ (3x+1) y=xe™, is
(1) xe 2) xe*
@) xe™ (€Y %xe‘“
2
83. | For the differential equation % +ay=-4s8in2x,ify = xcos2x isa
particular solution, then the value of a is
1 1
(1) 4 (2) -4 (3) 1 4) 4
84. | Orthogonal trajectories of the family of parabolas v = 4 ax are
(1) 2x*+y2:=c¢ (2) x*+2y2=¢
(3) x*=4ay-+c @) ¥ =dx+=

PG-EE-2016 (Maths, Maths with Comp. Sc.) Code-B
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85. | The differential equation of the type y = px + f (p) is known with

the name

(1) Buler . (2) Lagrange (3) Clairaut (4) Cauchy

86. | The vector (x+3y) i+(y—2z)j+(x+Az) k is solenoidal, then the value of
A is
(1 o = (3) 2 4 -2
87. | Magnitude of maximum directional derivative of
¢ (x,y,2)=x"—2y"+4 z* at the point (1, 1,-1) is
(1) 21 @ 2421
(3) 3421 @ 27,
88. | A particle moves along the curve

x =4 cost, y =4 sint, z= 6 t, where t is time. Magnitude of acceleration at
time t is

@ 3 @ % @ 5 @ 4

89.

Using Stoke's theorem, value of the integral i(yzdx+xzdy +xydz),
where cisthecurve x*+y*=1,z=y%,is

1 o @ 1 (3) 2 @ %

90.

If f=3xyi—y*], then I?-dr, where c is the curve y = 2 x% from (0, 0) to
C

(1, 2); is

W % @ % ® Y% @ 8

PG-EE-2016 (Maths, Maths with Comp. Sc.) Code-B
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Every skew-symmetric matrix of odd order is

(1) Symmetric (2) Singular
(3) Non-singular (4) Hermitian
99, | Ifr is the rank of the matrix A, then the number of linearly independent
golutions of the equation AX =0 in n variables, is
(1) n—r @ n-r-1
3) r—1 (4) nir
93. | For the equation x*+5x3+2x—-3 =0, least number of imaginary roots is
(1) 4 (2) 5 (3) 6 4) 2
94. | Characteristic roots of a Hermitian matrix are all
(1) =zero (2) imaginary
(3) complex (4) real
95. | One root of the equation ax® + bx? + ex + d =0 is equal to the sum of the
other two if
(1) b*+4abc+8a%d=0 (2) b2+4abc—8a*d=0
(3) b*-4abc+8a®d=0 (4) b*-4abc—8a'd=0
96. | The roots of the equation 2 x* + 6 x*+5x +k=0arein A. P. Then the
value of K is '
(1) -1 (2) 1 (3) -2 4 2
97, | If xx: ; = 80 and n is a positive integer, then the value ofnis
(1) 2 (2) 3 (3) 4 4) 5 .

PG-EE-2016 (Maths, Maths with Comp. Sc.) Code-B

(17)



Code-

estion :
Yo, Questions

ax+1 , x=<2
98. Letf(x): 3ax+b , 2<x<4

6 , o x24
Values of a a.ud't? such that f (x) is continuous everywhere, are
-5 8 5 ~ '
5 3 B 2
{3) 8 ’ 9 (4) ‘:it 'E
99. | Derivative of cos™ 1‘ . -I;: ,0<x<lis
-2 =1
1) 2
! J1-x* @ 2vy1-x"
@ -—— @ ——
Ji—=x 241 —x*
100. | The radius of curvature P for the curve xy = ¢, ¢ being constant, is
i x+y e
W @) o &0
Ig 3 q % xﬂ + 2 %
@ Ey) w 2T
2c 2¢

PG-EE-2016 (Maths, Maths with Comp. Sc.) Code-B
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b“ﬁﬁf““ Questions
2 2 2
1. | The equation gx‘: +2 gy’;‘ + g:‘;‘ = zaf;+ + ﬂg; is
(1) Linear (2) Elliptic
'(3) Hyperbolic (4) Parabolic
2. | Every given system of forces acting on a rigid body can be reduced to a
(1) Couple (2) Screw
(3) Wrench (4) Null force
3. | Absolute units of moment in S.I. system is
(1) Dyne centimeter (2) Gram centimeter
(3) Kg. meter (4) Newton meter
4. | For two equal forces acting on a particle, if square of their resultant is
three times their product, then the angle between these forces is
m Y% @ % ® % @ %
5. | Abody isslightly displaced and still remains in equilibrium in any position,
then such equilibrium is known as
(1) Perfect equilibrium (2) Stable equilibrium
(3) Neutral equilibrium (4) Natural equilibrium
6. | A body of weight 4 kg. rests in equilibrium on an inclined plane whose
slope is 30°. The co-efficient of friction is
1 1 2
1) 3 @ 7 @ 7 @ 7

PG-EE-2016 (Maths, Maths with Comp. Sc.) Code-C
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2 4
7. | The series E‘E + %ﬂ- + ; ------- , where p and q are positive real numbers,
is convergent if
| D p<q-2 2 p<q-1
3 r>aq 4) p=q
_1 -1
8. | The series Z 1)
=l 11
(1) Absolutely convergent (2) Divergent
(8) Conditionally convergent (4) Oscillatory
5, . AL, (-1)" :
9. | The limit superior and limit inferior of i [are respectively equal to
() 0,0 2) L0 3 1,-1 4 -1,0
’
10. | If the series i a_ is convergent and the series < b,> is monotonic and
n=1
bounded, then the series i a b, is convergent. This result is due to
n=1
(1) Cauchy (2) Leibnitz (3) Dirichlet (4) Abel
11. | Sum of the series
sinhx+sinh2x+ainh3x+ ______ 5, 18
2 3
1) = (in-x) @ L (in+x)
2 2
3) in-x (4) in+x

PG-EE-2016 (Maths, Maths with Comp. Sc.) Code-C
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An integrating factor of x %i: + [Bx +1)y=xe™, is

(1) xe* (2) xe*
@) xe™ ) %xe‘*’

=

2
13. | For the differential equation $+ay =-4sin2x,ify = xcos2x 1s a

particular solution, then the value of a is

1 1
(1) 4 2) -4 (3{ 1 (4) =3k
14. | Orthogonal trajectories of the family of parabolas y* = 4 ax are
(1) 2x*+y*=c (2 x*+2y*=c
3) x*=4ay+c @) y’=4x+§

15. | The differential equation of the type y = px + f (p) is known with

| the name

(1) Euler (2) Lagra;ge (8) Clairaut (4) Cauchy

16. | The vector (x+3y) i +(y-22)j+(x+Az) k is solenoidal, then the value of
A is

(1) 0 @ -1 @3) 2 4 -2

17. | Magnitude of maximum directional derivative of
o (x, y,2)=x"-2y" +4 2" at the point (1, 1, -1)is

@ V21 @ 2421
@3 38421 @ 27

PG-EE-2016 (Maths, Maths with Comp, Sc.) Code-C
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18. | A particle moves along the curve

x =4 cost, y = 4 sint, z= 6 t, where t is time. Magnitude of acceleratmn af

time t is

(1) 3 @ 7 @ 5 @ 4

19.

Using Stoke's theorem, value of the integral i(Yde‘*"z‘i}'“f"Y{iz)*

where ¢ is the curve x* +y?=1,z=y*; i8

o @ 1 @ 2 @ 7
20, | If f=3xyi—y*j, then [f.dr, where cis the curve y = 2 x2, from (0, 0) tq
Cc
(1, 2); 18
W% % . O® % @ 8
21. | Every skew-symmetric matrix of odd order is
(1) Symmetric (2) Singular
(3) Non-singular (4) Hermitian
99. | If r is the rank of the matrix A, then the number of linearly independen
solutions of the equation AX = 0 in n variables, is
1) n-r 2 n-r-1
3) r-1 (4) nir
93. | For the equation x*+ 5 x* +2x—3 =0, least number of imaginary roots is

(1) 4 2 5 (3) 6 4 2

PG-EE-2016 (Maths, Maths with Comp. Sc.) Code-C
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24. | Characteristic roots of a Hermitian matrix are all
(1) zero (2) imaginary
(3) complex (4) real
25. | One root of the equation ax® + bx® + ¢x + d = 0 is equal to the sum of the
other two if
(1) b®*+4abc+8a’d=0 (2) b*+4abc—-8a’d=0
(3) b*—4abc+8a'd=0 (4) b*-4abc—8a%d=0
26. | The roots of the equation 2x*+6x*+5x+k =0 are in A, P. Then the
value of K is
eyl (2 1 3 —2 (4) 2
27 | H xx— e 80 and n is a positive integer, then the value of nis
(1) 2 (2) 3
(3) 4 (4) 5
ax+1 , x<2
28. | Let f(x)=4{ 3ax+b , 2<x<4
6 , x24
Values of a and b such that f (x) is continuous everywhere, are
-5 3 5 -3
(1) 8’2 (2) 8 2
5 3 & 2
3) 8 9 (4) 3’3

PG-EE-2016 (Maths, Maths with Comp. Sc.) Code-C
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29. | Derivative of cos™ 1—;—}5, D<x<lis
) -1
1) 2
D e @ i
1 1
g8) = 4
il v1-x* & 241 —x*
30. | The radius of curvature P for the curve Xy =c¢, ¢ being constant, is
2, ok
iy oy Y% (x*+¥%)
0 (x*+y") @) =
(xz N Fz)% (x” +y’)%
3 r———— 4 ——
2c 2c
31. | Inan inner product space V (F), the inequality |(u., B) | <la|-|B] Vo, B eV,
is called
(1) Schwarz inequality :
(2) Triangle inequality
(3) Bessel's inequality
(4) Normal inequality
99 | Ifuand v are normal vectors in an inner product space V, then |u-v|=
1 0 2 1 3) 2 @4 2
a3 | Which of the following is a orthogonal set

@ {0, 1), (1,0,-1), (0, 1, O)}

@ {@, 0, 1), (1,0,-1), (-1 0, 1)}
@ {1 0,1),(10-1) (0,2 3)}

(4) None of these

PG-EE-2016 (Maths, Maths with Comp. Sc.) Code-C
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: 34. | The missing term in the table
x|0|112)|3(4 |
18
y|(1]3]9 81
(1) - 27 (2) 31 (3) 32 4 3
35. | The sum of eigen values of a square matrix A of order n is equal to
n n-1
s 12 1 Edili
(1) 2 (2 2
(3) trace (A) 4 |A|
36. | In Simpson's % th rule, the interpolating polynomial is of degree
(1) 2 2) 1 (3) 4 4) 3
37. | Root of the equation x* =12 x + 7 = 0 which is approximately equal
to 2, is
(1) 192 (2) 1.95 (3) 2.05 (4) 215
h
38. | Which of the following is not correct
1D Aa=@1-v)" @ 1-E'=v
@ E=1+A @ s-gh_gk 4
39. | For a normal distribution having mean p and standard deviation o , the
most probable limits are
(1) pto (2) n+2¢
@) wtso 4) p+3e

PG-EE-2016 (Maths, Maths with Comp. Sc.) Code-C
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40.

In Gauss quadrature formula, the range of integration is
(1) [(}, 1] (2) [—1. 1]

| @ [0, n] @ [-1,0]

41.

3 20X
The improper integral j' e dx converges to
x.—-

Mm% @ & ® % @ %

42,

Which of the following statements is not true

(1) Every singleton set is connected in any metric space

(2) Empty set is connected in every metric space

(3) Every subset having at least two pninfg of a metric space is not
connected

(4) None of these

43.

j _E_;:]-l% dx converges absolutely if
1

1 m<1 (2 m>1 (3) m=0 (4) m<l

A totally bounded metric space is
(1) Compact (2) Complete
(3) Separable (4) Everywhere dense

45.

If the set A is open and the set B is closed in R, then
(1) B-—Aisclosed (2) B-Aisopen
(3) B-—A issemi-open (4) B—Aisnull set

PG-EE-2016 (Maths, Maths with Comp. Sc.) Code-C
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46. | For a Cantor's ternary set, whicn of the following is not correct
(1) It is closed (2) Itisuncountable
(3) Itisdense (4) It is perfect set
47. | Let £ be a bounded function defined on the bounded interval [a, b].
Then fis Riemann integrable on [a, b] iff
b b
O [f=ff @ !fsﬂ“f
4 b
®) !hfa:fff @ 1=
48. | 1 G is a non-abelian group of order 125, then O (Z (G)) is
(1) 25 (2) 125 (3) 5 4 10
49, | The number of abelian groups upto isomorphism of order 10° is
(1) 50 2) 49 (3) 45 (4) 39
‘_ -
50. | The number of generators of a finite group of order 53 are
(1) &3 (2) 52 (8) 54 4) [62
51. | If Lagrange’s mean value theorem is used on the function f (x) =x (x = 1)
in [1, 2], then the value of ¢’ is
W Y% @ % @ % @ ¥
52. | fu=2%y, v=x*—y% Xx=rcos 9,y =r sing, then E?‘—(-El)=
a(r, 8)
(1) -4r° (2) —-4r® (3) -=2r (4) -3r

PG-EE-2016 (Maths, Maths with Comp. Sc.) Code-C
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d'u
53, | fu=f(x+2y)+gx—-2y), then 4ax’ =
d'u & ua
(1) P (2) oy*
d*u d*u
3) 2— @) -2—
(3) pee ) oy
54. | Ifu=log (x* + xy + y°) then u%+ y%:
(1) 0 (2 -1 3) 1 4 2
55. | The envelope of the family of curves (x — a)* + y¥* =4 a, a 'heing the
parameter ; is
(1) x2=4(y +1) 2 x*=2(x+1)
(3) y'=4(x+1) @) y'=-4(x+1)
56. | The locus of centre of curvature for a curve is called its
(1) envelope (2) evolute
(3) torsion (4) characteristic
R [ (tan'x)

x—=0 log(1+x*) .

(1) 0 @)

@ 1 4

Bo T bo| =

PG-EE-2016 (Maths, Maths with Comp. Sc.) Code-C
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| @) px+agy=q’
(3) px+ay=p’

58. | Partial differential equation obtained by eliminating the arbitrary
constants a and b from the relation 2z=(ax+y)* +b, is

(2) py+gx=q’
(4) py+qx=p*

58, | Solutionofpx+qgy=32z18

o 5 %)

z

@ f(%, f—]:o

@ f[i, "—a]=u
v Z

(1) 2x*y+xt
1
(3) 2x*y+3x

60. | P.1. of the partial differential equation (D*—2 DD'+D*) z=12xy, is

@ 2x'y+y®
(4 2x%y+3x*

P 2 (2) 4

61. | The number of prime ideals of Z , is

3) & 4 10

(1) Empty
(3) Any set

62. | If ff.G —» @' is group homomorphism, then f is one-one if Kernel f i

(2) Singleton set
(4) Set of identity element

(1) Anideal

(2) A vector space
(3) Aring

(4) A field

63. | Anideal 8 of a commutative ring R with unity is maximal iff R/S is

PG-EE-2016 (Maths, Maths with Comp. Sc.) Code-C
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64.

Which of the following statements is false
(1) Every field is a ring

(2) Every finite integral domain is a field
(3) Every fieldis an integral domain

(4) Every integral domainisa field

65.

A person weighing 70 kg. is in a lift ascending with an acceleration of
1.4 m/sec?. The thrust of his feet on the lift (in Newton) is

(1) 784N (2) 780N
(3) 692N (4) 980N

66.

The horizontal range of a projectile is three times the greatest height,

the angle of projection is

(1) tan™ - . (2) tan™

(4) tan™

o= M0
e |

(3) tan”

67.

The law of force towards the pole under the curve r* =2 ap is
1 ~

T

1

r’

(1) Fu% @ Fa

@) Fa;} 4 Fa

68.

If ® be the angle which the tangent at a point makes with the
radius vector, then the relation between angular velocity w and linear

velocity v 18

v cost 3) w=vmnﬁ

(1) w=vr (2) w= (4) w=vrsind

f

PG-EE-2016 (Maths, Maths with Comp. Sc.) Code-C
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69. | Two particles of mass m and 4 m are moving with equal momentum. The
ratio of their kinetic energies is

@) 1:2 2 2:1 (3) 1:4 (4) 4:1
70. | Kepler law of motion says that each planet describes an ellipse having
the sum at its |
(1) Focus (2) Centre
(8) Origin (4) Outer cover

71. | A particle describes the cycloid s =4 a giny with uniform speed v. The
acceleration at any point is

v v
D 4 ® o iea
\ v
® oo (4) e

2. | [(B-x)" ax-

1 1 3 1 1 2
o 3 B(E’ -2-] (2) 5 ﬂ[ﬁr E]

2 1 2 B
(3) EB[E’ "3‘] (4) B{E. E)

73. r{n}r_(l-n)=

1 — 1 @) sin nn
gin nm T
nn 2n

@ sin nn @ sin nn

PG-EE-2016 (Maths, Maths with Comp. Sc.) Code-C
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74. | If Fourier co-efficient of f (t) are Cn, then Fourier co-efficients of
F0 are
(1) C, @) C-a
(3). O 4 -C.,
75. | By changing the order of integration, the value of r j. x_:ix_d:i =
0y X + y’
3
¢iy 88 @) ==
4 4
4ma na
® 3 @ =
76. | Given that f(z) =2 x® +y + i (y* - x). C — R equations for this function are

satisfied at
(1) thelinex=2y (2) theliney=2x
(8), every point of z-plang (4) no point of z-plane

Pt

7.

Image of |z—2i|= 2 under the mapping w = u+iv = £ is
Z

(1) 4v+1=0 (2) 4u+1=0

(3) 4v-1=0 (4) 4u-1=0

78.

32—4. |

Fixed point of the transformation w = is

z—1
(1) z=4
(2) z=3
(3) z=2
4 z=1

PG-EE-2016 (Maths, Maths with Comp. Sc.) Code-C
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79. | If V and W are vector spaces, then a linear transformation T from Vto W
is isomorphism if it is
(1) into (2) one-one
(3) onto (4) orthogonal
80. | fW={(a, b,c,d):b+c+d=0}isasubspace of R*, then dim W is
(1) 4 2 3 3) 2 4) 1
81. | Oblique asymptotes to the curve y* (x-2 a) = x* —a® are
(1) yxx+2a=0 (2) xty+2a=0
8 xty+a=0 (4) ytx+a=0
82. | Area between the parabolasx®=4 ay and y*=4 axis
3 5 E 2
M g @ Za
@ o @ e
88. | [ x*V1-x dx=
[i]
W 5% @ 5%
@ *%os @ *%
84. | Co-ordinates of the centre of the conie
8x?-24xy+16y*+48x-48y=0, are
(1) (4,3) (2) (3,4)
3) G2 4) (2,3)

PG-EE-2016 (Maths, Maths with Comp. Sc.) Code-C
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85. | Radius of the sphere
x2+y3+z”—4x+6y-ﬂz+4=ﬂia

M 3 @ 4 ® % @ 5

0'in perpendicular lines, is

86. | The condition that the plane ax + by + ¢z = 0 cuts the cone xy + yz + zx =

I 'Y 1 1 8.8
——4==1 =+23%_0
(1) a+h+c (2)a+b+E
Iy 11 "
(3) -+-E+—-={) 4 a+b+c=0
a e
87. | Value of tan [ilug ah?ina
a+ib
ab 2 ab
{1) a:_bz (2) _a_n___l;?
F
2 ab 4 ab
(3) 65:35? (4) 2 b

88. | Which of the following congruences have solution
(1) x*=2 (mod 59) (2) x*=-2(mod 59)
3) x*=2 (mod 61) @ x*=-2(mod 61)

89. | If tan™ 2x+tan~' gx = E then x =

1
(2) 3

1
(4) r

(1)

3

~1| B |

PG-EE-2016 (Maths, Maths with Comp. Sc.) Code-C
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90. | Ifcoshx =2, thenx =

() log (2-V5) @) log (2-+3)
@) log (2+5) (4) log (2++3)
91, {J%[k)) + {Jﬂé(x)} =
= g X L g =
) 3 ) @) = @), o
92. | If the Hermite polynomial of degree n is denoted by H_ (x), then H, (x) =
M x @ 2x @ -2x @ 3
93. Ite"'mstdt=
o
3 .' 9 3 9
@ 15 @ 15 @ o5 @ 3
-1 X
94. =
=
_]; e l At
(1) 4te. (2) 41:*-;-.
L 1.
@) -,ﬁ;t_e @ Ste

PG-EE-2016 (Maths, Maths with Comp. Sc.) Code-C
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95. | Fourier transform of the function
e™,t>0,a>0
f(t)= :
0= g
1 i a na
M a+1s 2) a+is ©) T+i8 @) 1+is
96. | Giventhat
intx=1, y=4,
X=++x+--vy;
Then the value of x is
(1) 4 (2) b (3) 6 4 7
97. | The continue statement cannot be used with
(1) do (2) while . (3) for (4) switch
98. | The expression (+p)-x is equivalent to
(1) «p—>x (2) p—ox
3) p—ox 4 p=x
89. | The result of the expression (17 *4) % (int) 9-3 is
1) 5 2 4 @3) 3.7 @ 173
100. | The condition for covergence of the Newton - Raphson method to a
root a is
f'(a) f'(e)
1) —75<0 (2)
£ (a) £ () ©
f* (a) {“‘-
3 e i 1 4 £l
(3) f"{u}} @) 7 )

PG-EE-2016 (Maths, Maths with Comp. Sc.) Code-C
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No. Questions
1. | Oblique anympmbestothecurve y? (x-2 a) = x* —a’ are
1) yix+22a=0
(2) xty+2a=0
3) xty+a=0
(4) ytx+a=0
2. Areabe‘bwaenthepmbolasﬁ:&ayandy*::laxia
2 8 .
1 g* @ 3*
16 16
@ Z* @ 2
3. r:‘-Jl—x’dx=
0
) 5% @ %6
(3) 3%23 . 4) 3%2
4. | Co-ordinates of the centre of the conic
8:’—24:y+153’+48x—4ﬁy=0,m
(1) 43 2 &9
@) 6,2 4 2,3
5. | Radius of the sphere
By +pi-4x+6y—8z+4=01s
1 3 ' @ 4
® % @ 5
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6. | The condition that the plane ax+by+cz“0ctttsihe?mexy+yz+zx a
in perpendicular lines, is

1. 1.1 1. 2. &ors
e d—F—==] = —=ﬂ
(@ a+h+c (@) a+b+c
@ Liitiog ()5 b e =0
a b ¢ .

7. | Value of tan (i log 2= lb) is

a+ib
b ab
W g @
2 ab 4ab
(3) (aTb')" (4) 2 bt

8. | Which of the following congruences have solution
(1) x*=2(mod 59) (2) x*=-2(mod 59)
(8) x*=2(mod 61) (4) x*=-2(mod 61)

9. | If tan™ 2x+tan™ 3x= E then x =

1

1
(1) 3 (2) 3
4 1
(3) ? (4) 8
10. | Ifcoshx=2,thenx =
(1) log.(2-5) @ log (2—+3)
@) log (2++5) 4) log (2++3)

PG-EE-2016 (Maths, Maths with Comp. Sc.) Code-D
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b“ﬁsg““; Questions
11. | Inan inner product space V (F), the inequality ] (c, B) | <la]-|B| Ve, p eV,
18 called
(1) Schwarzinequality
(2) Triangle inequality
(3) Bessel's inequality
(4) Normal inequality
12. | Ifuand v are normal vectors in an inner product space V, then |u-v|=
@ o @ 1 3 2 4 2
13. | Which of the following is a orthogonal set
(l} {[L u! 1): (19 Us _'1): (u! 1! 0}}
@ {0 0, 1), (1,0,-1), (-1, 0,1)}
@ {1 0, 1), (1.0.-1), (0, 2, 3)}
(4) None of these
14. | The missing term in the table
x[o]1]2]8]4 |
. pr= : 18
y(1|31]9 81
(1) 27 (2) 31 (3) 32 4 34
15. | The sum of eigen values of a square matrix A of order n is equal to
n n-—1
(1) 3 _ (2) g
(8) trace (A) @ |A]

PG-EE-2016 (Maths, Maths with Comp. Sc.) Code-D
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16. | In Simpson’s % th rule, the interpolating polynomial is of degree
(1) 2 2 1 (3) 4 (4 3

17. | Root of the equation x* =12 x + 7 = 0 which is approximately equal
to 2, is
(1) 192 (2) 1.95 (3) 2.056 (4) 2.1b6

18. | Which of the following is not correct
1) a=0-v)" (2) 1-E'=V
@) E=1+A @ s=EF-E"

19. | For a normal distribution having mean p and standard deviation o, the
most probable limits are
(1) pto (2 pt2¢0
@ ntso @) piso

20. | In Gauss quadrature formula, the range of integration is
@® [0,1] @ [-11] @) [0, n] @ [-10]

21. | The number of prime ideals of Z  is
(1) 2 (2 4 (3 5 4) 10

22. | If f:G— G’ is group homomorphism, then f is one-one if Kernel f is
(1) Empty (2) Singleton set
(3) Any set (4) Set of identity element

PG-EE-2016 (Maths, Maths with Comp. Sc.) Code-D
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An ideal S of a commutative ring R with unity is maximal iff R/S is
(1) Anideal (2) A vector space
(3) Aring . (4) A field

24,

Which of the following statements is false
(1) Every field is a ring

(2) Every finite integral domain is a field
(3) Every field is an integral domain

(4) Every integral domain is a field

A person weighing 70 kg. is in a lift ascending with an acceleration of
1.4 m/sec?. The thrust of his feet on the lift (in Newton) 1s

(1) 784N (2) 780N
(8) 692N (4) 980N

The horizontal range of a projectile is three times the greatest height,
the angle of projection is
3
2
4

(3) tan” o (4) tan™

(1) tan™ (2) tan™

oo b

27.

The law of force towards the pole under the curve r* =2 ap is

1 1
@ Fa—w @ Fax
r I

PG-EE-2016 (Maths, Maths with Comp. Se.) Code-D
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28. | If 8 be the angle which the tangent at a point makes with the
radius vector, then the relation between angular velocity w and linear
velocity v is
(1) W =vr (2) w=VﬂDEE
vsinf .
B) w= (4) w=vrsinb
29. | Two particles of mass m and 4 m are moving with equal momentum The
ratio of their kinetic energies is
) T @ 2:1 3) 1:4 (4) 4:1
30. | Keplerlaw of motion says that each planet describes an ellipse having the
gum at its
(1) Focus (2) Centre
(3) Origin ;4} Outer cover
2 H
31. {Ji{x)} + {J_ 1(:::}} =
2 '}
X X 2 n
L g @) 2n @) X @ 2x
32. | If the Hermite polynomial of degree n is denoted by H_ (x), then H, (x) =
(1) x @ 2x @) -2x ) %
83. | [te™ costdt=
]
3 9 3 9
M 1 (2) 16 (3) %5 (4) 25

PG-EE-2016 (Maths, Maths with Comp. Sc.) Code-D
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34. | L b=
e
l 3t l 4t 1 4t i 4t
@ Fte* @ > t'e (8) 5 te @ 3 t'e
35. | Fourier transform of the function
. e™, t>0,a>0
f(t)= : g
|.FJ { 0 : £<0 15
: 1 T a Ta
& a+is 2 a+is @) T+ 18 @ 1+is
36. | Given that
intx=1, y=4;
xX=+ +X+——y;
Then the value of x is
1) 4 (2) 5 (3) 6 4 7
37. | The continue statement cannot be used with
(1) do (2) while (3) for (4) switch
38. | The expression («p)-x is equivalent to
(1) *p->x (2) p—ox
B p—x (4 p=x
89. | The result of the expression (17 * 4) % (int) 9-3 is
(1) 5 (2) 4
B 3.7 (4) 7.3
PG-EE-2016 (Maths, Maths with Comp. Sc,) Code-D
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40. | The condition for covergence of the Newton - Raphson method to a
root o 18
(o) £ (a)
1) ——=«<0 <1
D e D e
f' (ﬂ) at f' {{I] <9
{.3) £ ({I) >1 (4} £ (C[-)
41. | 1f Lagrange’s mean value theorem is used on the function fx)=xx-1)
in [1, 2], then the value of ‘¢’ is
Y @ % ® % @ ¥
42, | Hu=2xy,v =x?—y? x=rcos e,y=rsinﬁ.theum=
. a(r, 8)
(1) -4r (2) —4r® (3) —2rf (4) -3r°
= o'u
43. Ifu—-f{x+2y)+g(x—2ﬂ, then 4E;=
Zu 8*u
D ~5? (2) e
" u o*u
8) 2— 4) —-2—5
(3) oy (4) P
44, | Ifu=log (x* +xy + y?) then u%+y%:—=
@ 0 | @ -1
3) 1 (4) 2

PG-EE-2016 (Maths, Maths with Comp. Sc) Code-D
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45. | The envelope of the family of curves (x —a)’ +y° =4 a, a being the
. parameter ; is
@) xt=4@+1) @ ¥=2(x+1)
@ y=4&x+t1) (@) y*=-4(x+1)
48. | The locus of centre of curvature for a curve 1s called its
(1) envelope (2) evolute
(3) torsion (4) characteristic
T (e x) _
“ | x>0 log(1+x*) l
1 3
| (1) 0 (2) 5 3) 1 (4) 9
48. | Partial differential equation obtained by eliminating the arbitrary
constante a and b from the relation 2z = (ax+y)y+b,is
(1) px+ay=q (2 py+gx=q
(8) px+taqy=p° 4) py+qx=p’
49, | Solutionof px+qy=3z1is
2 3
o f[i, "—}=o @ f[i, "—]=u
Xz %
I X X
(3) fl=r— =0 (4) £{—. ——]=(}
y 2 y &
50. | PI. of the partial differential equation (])2 —2DD + D'E] z=12 xy, i8
(1) 2x*y+xt @) 2x°y+y*
(3 2x*y+3x? 4) 2x*y+3x

PG-EE-2016 (Maths, Maths with Comp. Sc.) Code-D
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No. Questions
61. | Sum of the series
St x+51nh 2x+sin]; ax EesTare i
@ = (in-x) @ 1 (in+x)
2 2
3) in—=x 4 in+x
652, | An integrating factor of x g—y +(3x+1) y=xe™, is
X
(1) xe* (2) xe*™
@ xe” @ gxe™
2
33. | For the differential equation 2—"’; tay=—4sin2x, ify = xcos2x isa
X
particular solution, then the value of a is
(1) 4 (2) —4
1 1
(3) ) (4) -—E
54. | Orthogonal trajectories of the family of parabolas y*=4 ax are
(1) 2x*+yi=¢ (2) x*+2yi=e
(8) x*=4ay+e (4) F’=4x+£
85. | The differential equation of the type y = px + f (p) is known with
the name
(1) Euler (2) Lagrange (3) Clairaut (4) Cauchy

PG-EE-2016 (Maths, Maths with Comp. Sc.) Code-D
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56. | The vector (x +3y) i+(y—22) i+ (x+Az) k is solenoidal, then the value of

: A is
(1) o @ -1 3) 2 4 -2

57. | Magnitude of maximum directional derivative of
o (% ¥, 2)=x"—2 y* +4 2° at the point (1, 1,-1) is
1 21 @) 2421
@) 3421 @ 2%,

58. | A particle moves along the curve
x=4 cost,y=4sint,z=6t, wheretis time. Magnitude of acceleration at
time t is
a 3 @ % @) 5 @ 4

59. | Using Stoke’s theorem, value of the integral i(yzdx-!-xzdy +xydz),
where cisthe curve X2 +y*=1,z=y"; is
M 0 @ 1 @ 2 @ %

60. | If f=3xyi—y’], then ﬁ‘-d:. where ¢ is the curve y = 2 x2, from (0, 0) to

C

(1, 2);is
W % @ %
® % @ %

PG-EE-2016 (Maths, Maths with Comp. Sc.) Code-D
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_ 61. | The equation z:': +2 g:: + 2:: = Eaxa;+ +236;;z is

(1) Linear (2) Elliptic
(3) Hyperbolie (4) Parabolic

62, | Every given system of forces acting on a rigid body can be reduced to a
(1) Couple (2) Screw
(3) Wrench (4) Null force

63. | Absolute units of moment in S.I. gsystem is
(1) Dyne centimeter (2) Gram centimeter
(3) Kg. meter (4) Newton meter

64. | For two equal forces acting on a particle, if square of their resultant is
three times their product, then the angle between these forces is
W% @K% O% o %

65. | Abodyisslightly displaced and still remains in equilibrium in any position,
then such equilibrium is known as
(1) Perfect equilibrium (2) Stable equilibrium
(3) Neutral equilibrium (4) Natural equilibrium

66. | A body of weight 4 ke. rests in equilibrium on an inclined plane whose
slope is 30°, The co-efficient of friction is

1 1 2

(1) V3 @ 7 @ 7 @ 5

PG-EE-2016 (Maths, Maths with Comp. Sc.) Code-D
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2p 3p  4p

' 67. | The series — 1 ""2q +ET+-------‘wherepandqa:epuaitiverealnumhers,
|'
is convergent if
( (1) p<q-2 (2) p<q-1
{ B p>q (4) p=q
IS 5 i
68. | The series Z ( )
1 n=l n-
(1) Absolutely convergent (2) Divergent
(3) Conditionally convergent (4) Oscillatory
69. | The limit superior and limit inferior of { ! }are respectively equal to
(1) 0,0 2 1,0
@ 1,-1 (4) -1,0
70. | If the ﬂeriea"i a, is convergent and the series < b, > is monotonic and
n=l
bounded, then the series i a,b, is convergent. This result is due to
n=]
(1) Cauchy (2) Leibnitz
(3) Dirichlet (4) Abel

71.

dx converges to

® % @ 3

2
The improper integral L J_x—l
X —

Wm % @ %

PG-EE-2016 (Maths, Maths with Comp. Sc.) Code-D
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72. | Which of the following statements is not true

(1) Every singleton set is connected in any metric space
(2) Empty set is connected in every metric space

(8) Every subset having at least two points of a metric space is n
connected

(4) None of these

73. I%}- dx converges absolutely if
1
(1) m<1 (2 m>1 (3) m=0 4) m<1
74. | Atotally bounded metric space is
(1) Compact (2) Complete
(3) Separable (4) Everywhere dense
75. | Ifthe set A is open and the set B is closed in R", then
(1) B-A isclosed (2) B-Aisopen
(3) B-A is semi-open (4) B—Aisnull set
76. | For a Cantor’s ternary set, which of the following is not correct
(1) It is closed (2) Itis uncountable
(3) Itis dense (4) It is perfect set

77. | Let £ be a bounded function defined on the bounded interval [a, b].

Then fis Riemann integrable on [a, b] iff

M [t2671 @ [t<tis

@ [t<tos (€ !bf=f'.“f

78. | If G is a non-abelian group of order 125, then O (Z (G)) is
(1) 2b (2) 125 (3) 5 4) 10
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Code-D

Questions
| 79. | The number of abelian groups upto isomorphism of order 10° is
(1) 50 (2) 49 (3) 45 4) 39
80. | The number of generators of a finite group of order 53 are
(1) 53 @) 52 3) 5 @ |52
81. | Every skew-symmetric matrix of odd order is
(1) Symmetric (2) Singular
(3) Non-singular (4) Hermitian
82. | Ifristhe rank of the matrix A, then the number of linearly independent
solutions of the equation AX=0inn variables, is
(1) n-r (2) n-r-1
3 r-1 4 n/r
83. | Forthe equation x8+5x3+9x — 3 =0, least number of imaginary roots is
(1) 4 (2) b (3) 6 4 2
84. | Characteristic roots of a Hermitian matrix are all
(1) zero (2) imaginary
(8) complex (4) real
85. | One root of the equation ax® + bx® + ex + d =0 is equal to the sum of the
other two if
(1) b*+4abc+8a%d=0
(2) b’+4abec-8atd=0
(3) b*~4abe+8atd=0
(4) b*~4abc—-8a2d=0
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Code-D

khmnmn
No. Questions
86. | The roots of the equation 2x* +6x*+5x+k =0 are in A. P. Then the
value of K is
() =1 (2) 1 (3) -2 4 2
87. | If xx:j = 80 and n is a positive integer, then the value of n is
(1) 2 (2) 3 3) 4 4 5
ax+1 , x=2
88. | Let f(x)=4 Bax+b , 2<x<4
6 , x24
Values of a and b such that f (x) is continuous everywhere, are
-5 3 5 -3
M 33 @ 35 32
5 3 52
Sl o 4 -
89, | Derivative of cos 1’—2—. 0<x<l1is
-2 -1
1 2
& 1-x* @ 241 -x"
1 1
3 - 4
©) =% @ 2y1-x*
90. | The radius of curvature P for the curve xy = ¢, ¢ being constant, i8
3 = x*+y° %
(1) (x’ - Fz} % (2) g——c—)—
(x* "'3’2)% (x“ +Y=)%
3 —— @) ——
2¢ 2¢
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Questions

91. | A particle describes the cycloid s = 4 a siny with uniform speed v. The
acceleration at any point is

o % ® TnT
B rr— @) a:’;
92. E(Bu—x“)-%dx=
e ey eney
|
| e Bk ey
] 93. | I'(n)I(1-n)=
' L8 v @) ainnm
@ o P o

94. | If Fourier co-efficient of f (t) are Cn, then Fourier co-efficients of
F[0) are

M C,

@ C-a

B8) —Ca.

4) -C..

PG-EE-2016 (Maths, Maths with Comp, Sc.) Code-D
(17)




Code-D

stion
No. Questions
g5. | By changing the order of integration, the value of r_r de'l‘?
5 x*+y
w2 @ =
| 4
4na na
@ —3 4 —
96. | Giventhatf(z)= 2 x2+y+1i(y*—x). C — R equations for this function are
satisfied at
(1) thelinex=2y (2) theliney=2x

(3) every point of z-plane (4) no point of z-plane

97. | Image of lz-ﬂi[ — 2 under the mapping W = u+iv= . is
Z

(1) 4v+1=0 (2) 4u+1=0
(3) 4v-1=0 (4) 4u-1=0
3z-4 .
g8. | Fixed point of the transformation WEs is
(1) z=4 (2) z=3
(3) z=2 4) z=1

99. | 1f'V and W are vector spaces, then a linear transformation T from VtoW

is isomorphism if it is
(1) into (2) one-one
(3) onto (4) orthogonal

100. IfW={(&,b,c,cl):b+c+d=U}iaasubapaueofR‘,thendijis
(1) 4 (2) 3 (3) 2 (4) 1

PG-EE-2016 {Maths,]!riathsmth Comp. Sc.) Code-D
(18)




i 16. 3 31

% 3 1B. 2 33
4. 4 19. 4  34.
5. 3 20.4 35,
6. 1 2%. 13 35

T. 4 22 2 3T

10. 4 25: 3 40.
L. 3 26. 4 41.
12: 3 AT 42.
I3, 1 2B. 4 43:
14, 2 29, 1 44,

15. 4 30, 3 45.

M.Sc. MATH GROUP

46.

47

4B8.

49.

s0.

2,

oy

a3

54.
55,
S56.
&,
SE.
a9,

&60.

3

T

1|

i

62,

63,

64.

&3,

66.

67.

68.

659

70

TL.

.

s

74,

f 31

2

4

2

T
T
78,
78.
80.
81.
B2.
83.
84.
BS.
B
B7.
B8,
BS.

ag.

3

4

3

1.

82,

23,

94.

35.

B .

2T

58.

59.

1008:

3

4

:)

PAGE:

SET

-4 1 53 31 4 5.3 1 8 8 3 2 2 3 3% L a-a @ 4 b 4 4. 8 = B4 8 4 & & 4-8 8 &-3 4-4 ¢ 3£ 327 33§24

Bl1.

1 A



P ¢
i &

3. 4

10:= 1
7 S
12508
P bR
14. 4

e |

16.

p A

18.

19

20.

21,

22,

23

24,

2

26.

27

28.

29

30.

2

4

2

. o
B2
235
34,
35,
36.
3.
2.
39.
40.
41.
g2,
43,
44.

45.

3
3

i

M.S5c.

46.
47.
48.
43,
S
91,
592,
BE.
54.
B5.
hE.
5 e
o8,
59.

60.

R e e N N e e e N N e e

MATH GROUP BAGE:
a 6.3 76 3 91,02
3 6. 2 Tt 2 L P glE
1 63. 1 78. 1 83, =3
4 64. 2 7 S 94. 4
= 65. 4 80, 4 oHs 3
2 66. 2 Bl. I g&: 1
4 7. 1 B2. 3 97. 4
2 68, 3 B3. 1 0g8. 2
3 B9 3 Bd, 1 88, 2
1 T0% 2 B85.73 100, 4
3 Ti. 4 g6, 4
4 T2 3 BY.-2
3 73. 4 BB. 4
2 pi g gl 89,1
2 Thy:- 3 90. 3

&W,\W"

mflﬂl‘l 16
‘L ufessot .L;?nuu. men o
e B

2

SET

B



L.
2

2

10.
11.
122
13
14.

15

B

4

Lad

16.
17.
18

19.

20.
21.
22.
23,

24,

25

26.
27
28.
29.

30.

4

2

4

3.
32,
33.
34.
35.
G,
7.
3B.
39,
40.
41.
42,
43,
44.

45.

1
4

1

M.S5c. MATH GROUP

46.
47.
48.
49,
50
31,
52.
o3
54.
B
56.
31
58
= -

&0,

3

4

3

Btk
62 -1
63. 4
64. 4
65. 1
66. 3
67. 4
g68. 3
€9. 4
7.4 S X
I SISl
Y S
Fda L
Td. 2

T 4

T6.
i 2%
78,
9.
B8O.
Bl.
B2.
B3,
B4.
B5.
BE.
BT
88.
B9,

ag.

2

1

3

81,

2z,

93,

84.
9%,

86G.

57,

a8,

85

100,

3

2

3

PAGE:

c|

S S S P8 e el 8 Y e



— —_— — e —_— — —_—
M.Sec. MATH GROUP PAGE: 4
2ET
=—are = = —== T=smemeo ==-L==-—=-=E-=====-.=====tn=z

31. 30 46. 2 61.4 6.3 o1 a
Se RUNNINE 2. 3 A 95,
33.3 48.1 6.4 8.3 93, ;3
M. 4 L4 6,2 79, 2 W 2
35.1 50.1 65.3 0. 2 95, 4
3.2 S51.1 66.3 1.2 |9, 2
W x 52.3 6.2 @21 89 1
2 53.1 68.1 83 3 9g, 3
1 54,1 69.1 84,4 999, 3
3 S55.3 70.4 85, 3 100, 2
2 56.4 71,2 g6 1

ki e 2 T2. 4 B7. 4

——-—._———.---p.—.-——q-.-—-.--—-.—q_—u.-—.——-——_-.—-.-—-_-_--—.—a._a..._-—--n——-.-.-—-.—-—-—'.-—.—a_—-.--_—-..,——a-.———.-—...—.——.--.--—-—u——..-_—




	setA.pdf
	M.Sc. Math Set A.pdf
	M.Sc. Math Set A1.pdf
	M.Sc. Math Set A2.pdf
	M.Sc. Math Set A3.pdf
	M.Sc. Math Set A4.pdf
	M.Sc. Math Set A5.pdf
	M.Sc. Math Set A6.pdf
	M.Sc. Math Set A7.pdf
	M.Sc. Math Set A8.pdf
	M.Sc. Math Set A9.pdf
	M.Sc. Math Set A10.pdf
	M.Sc. Math Set A11.pdf
	M.Sc. Math Set A12.pdf
	M.Sc. Math Set A13.pdf
	M.Sc. Math Set A14.pdf
	M.Sc. Math Set A15.pdf
	M.Sc. Math Set A16.pdf
	M.Sc. Math Set A17.pdf
	M.Sc. Math Set A18.pdf

	setB.pdf
	M.Sc. Math Set B1.pdf
	M.Sc. Math Set B2.pdf
	M.Sc. Math Set B3.pdf
	M.Sc. Math Set B4.pdf
	M.Sc. Math Set B5.pdf
	M.Sc. Math Set B6.pdf
	M.Sc. Math Set B7.pdf
	M.Sc. Math Set B8.pdf
	M.Sc. Math Set B9.pdf
	M.Sc. Math Set B10.pdf
	M.Sc. Math Set B11.pdf
	M.Sc. Math Set B12.pdf
	M.Sc. Math Set B13.pdf
	M.Sc. Math Set B14.pdf
	M.Sc. Math Set B15.pdf
	M.Sc. Math Set B16.pdf
	M.Sc. Math Set B17.pdf
	M.Sc. Math Set B18.pdf

	setc.pdf
	M.Sc. Math Set C.pdf
	M.Sc. Math Set C1.pdf
	M.Sc. Math Set C2.pdf
	M.Sc. Math Set C3.pdf
	M.Sc. Math Set C4.pdf
	M.Sc. Math Set C5.pdf
	M.Sc. Math Set C6.pdf
	M.Sc. Math Set C7.pdf
	M.Sc. Math Set C8.pdf
	M.Sc. Math Set C9.pdf
	M.Sc. Math Set C10.pdf
	M.Sc. Math Set C11.pdf
	M.Sc. Math Set C12.pdf
	M.Sc. Math Set C13.pdf
	M.Sc. Math Set C14.pdf
	M.Sc. Math Set C15.pdf
	M.Sc. Math Set C16.pdf
	M.Sc. Math Set C17.pdf
	M.Sc. Math Set C18.pdf

	setD.pdf
	M.Sc. Math Set D.pdf
	M.Sc. Math Set D1.pdf
	M.Sc. Math Set D2.pdf
	M.Sc. Math Set D3.pdf
	M.Sc. Math Set D4.pdf
	M.Sc. Math Set D5.pdf
	M.Sc. Math Set D6.pdf
	M.Sc. Math Set D7.pdf
	M.Sc. Math Set D8.pdf
	M.Sc. Math Set D9.pdf
	M.Sc. Math Set D10.pdf
	M.Sc. Math Set D11.pdf
	M.Sc. Math Set D12.pdf
	M.Sc. Math Set D13.pdf
	M.Sc. Math Set D14.pdf
	M.Sc. Math Set D15.pdf
	M.Sc. Math Set D16.pdf
	M.Sc. Math Set D17.pdf
	M.Sc. Math Set D18.pdf

	M.Sc. Math Answer Key Set A.pdf
	M.Sc. Math Answer Key Set B.pdf
	M.Sc. Math Answer Key Set C.pdf
	M.Sc. Math Answer Key Set D.pdf

